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>>> my_lib = {"Java’': 10, 'C++': 5, 'Python': 1}
>>> len(my_1l1b)

T

3

>>>

>>> "Java' 1n my_l1ib
True

>>> "c++' 1n my_l1ib

False
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dict.fromkeys(iterable[, value])A: %

o [[literableP BT E A, valueAH, UWE:SHIRE
value, {PHZL1L{ENone

>>> my_lib = {}

>>> my_lib = {'Java’: 10, 'C++': 5, "Python': 1}
>>> freq = dict.fromkeys('0123456789"', @)

>>> freqg

{'e': 0, '1': 0, '2': 0, '3': 0, '4': 0, '5': 0,
'e': 0, '7': 0, '8': 0, '9': 0}



o BEXTHERIEENFTA,
IBIN— T Fr R EXT

&l
>>> my_l1ib
>>> my_l1ib
>>> my_l1ib
>>> my_l1ib

fZod 5

all

("Java'] = 8
'Python'] += 4

=

—

1

T, BoAkERBENE,

"Algorithm'] = 30

{'Java': 8, 'C++': 5, "Python': 5, 'Algorithm': 30}

o FiddelBoIBRISERNREEX, WBEITFE, #Mic
>>> del my_lib['C++"]

>>> my_1l1ib

{'Java': 8, 'Python': 5, 'Algorithm': 30}
>>> del my_lib['Calculus']

Traceback (most recent call last):
File "<pyshell#250>", line 1, 1n <module>
del my_lib['Calculus']

KeyError:

"Calculus'’
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>>> for k in my_lib.keys(Q):
printCk, end = " ")

Java Python Algorithm
>>> for pair in my_lib.i1tems(Q):
print(pair, end = " ")

('Java’', 8) ('Python', 5) ('Algorithm', 30)
>>> my_lib.values()

dict_values([8, 5, 30])

>>> list(my_lib.values()) # create list

[8, 5, 30]
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o ASMhRILLEIS T B 2RNE R EPIAN®E
>>> I = 1ter(my_11ib)
>>> next(I)
'Java’
>>> next(I)
'Python’
>>> next(I)
"Algorithm’
>>>
>>> for k 1n my_l1ib:
print(k, end = " ")

Java Python Algorithm
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>> D = {x: x ** 2 for x in range(5)}

S |

>>> D

{0: 0, 1: 1, 2: 4, 3: 9, 4: 16}
>>>

>> D = {c: @ for ¢ in "aeiou'}
>>> D

{'a': 0, 'e': 0, '"1': 0, '0': 0, 'u': 0}

>>>

>>> D = {k: v for k, v in zip('abc', [1, 2, 3])}
>>> D

{'a': 1, 'b': 2, 'c': 3}

>>>

>>> D = {k: v for k, v in D.1tems() if v % 2 == 1}
>>> D

{'a': 1, 'c': 3}
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>>> stu = {'1011": 80, '1016': 90, '1003': 85, '1008': 95}
>>> Stu

{'1011': 80, '1016': 90, '1003': 85, '1008': 95}

>>> del stu["1003']

>>> stu['1003'] = 85

>>> Stu

{'1011': 80, '1016': 90, '1008': 95, '1003': 85}

o JuBidkeys(ZRERFZHBNPAFA®R (p[ERNMR) . SAEED
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>>> Stu

{'1011":

>>> for

1003 85
1008 95
1011 80
1016 90

80, '1016': 90, '1008': 95, '1003': 85}
k 1in sorted(stu.keys()): #stu 1s also fine
print(Ck, stul[k])
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>>> Stu

ABHR - 1ZHR1E
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{'1011': 80, '1016': 90, '1008': 95, '1003': 85}
>>> list(stu.keys())

['1011', '1016',

'1008', '1003']

>>> List(stu.values())

[80, 90, 95, 85]
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>>> for pair in sorted(zip(stu.values(), stu.keys())):
print(pair)

(80, '1011")
(85, '1003")
(90, '1016")
(95, '1008")

>>> list(sorted(zip(stu.values(), stu.keys()), reverse=True))
[(95, "1008'), (90, '1016'), (85, '1003'), (80, '1011')]
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>>> stu = {'1011":[80, 90, 90], '1003':[55, 85, 70],
'1008' :[95, 90, 80], '1005':[75, 70, 50]}
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ldef f(x):

2 return x[0][0]

3

Adef g(x): # len(x[0]) > 0

5 return sum(x[0]) / len(x[0])
6

7def h(x):

8 for t in x[0]:

9 if t < 00:
10 return True
11 return False
R EE——E——————————
16L = sorted(zip(stu.values(), stu.keys()), key=f, reverse = True)
17print(L[0][1])
18
19L = sorted(zip(stu.values(), stu.keys()), key=h, reverse = True)

20print(L[0] [1])

21
22L = [t[1] for t in zip(stu.values(), stu.keys()) if h(t)]
23print(L)
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>>>D={lll:lal, IZV:Ib', '3':'0', '4':'C'}

o HEZMAD, MT@Ea, BE[1F], HFES, BE]

1def reverse_lookup(D, t):

2 res = []

3 for k in D:

4 if DLk] == t:

5 res.append (k)

6 return res

ldef reverse lookup_v1(D, t): # JIFXKHEE
2 return [k for k in D if D[k] == t]
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1def anagram(s):

2 = {}

3 words = s.split()

4 for w 1in words:

5 ks = tuple(sorted(w))

6 1T ks not in D: #1

7 D[ks] = [] #2

8 D[ks].append(w) #3

9 return [x for x in D.values()]

>>> § = 'ate but eat tub tea dealer ladder peat leader tape'’

>>> anagram(s)
[['ate', 'eat', "tea'], ['but', "tub'], ['dealer', 'leader'],
['ladder'], ['peat', 'tape']]
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setdefaultA:%

o setdefault(key, default]) : QNEFkeyiFiE, REIEITRAB]
B, SNHFREX(key, default)fliNFH, F1R[EI{Edefault

for w in words:
ks = tuple(sorted(w))
it ks not in D: #1
D[ks] = [] #2
D[ks].append(w) #3

I

def anagram(s):
D = {}
words = s.split()
for w in words:
ks = tuple(sorted(w))
D.setdefault(ks, []).append(w) #4
return [x for x in D.values()]
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